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What is the initial speed you would have to give an
object so that it can escape from the Earth’s surface
and never come back, I.e. go infinite far away from
Earth (escape speed)?

v="7

A.  25mih

B. 250 mih

C. 2,500 mi/h

(D) 25,000 mithx 7milse,
E. 250,000 mi/h




Today:

YEAH!!! .
Newton’s law of P gy /

gravitation
Satellite motion

| Once again let us
remember that we
discovered gravityl

Energy of orbital
motion

Escape speed

To us, Newton discovered gravity.
To the apples ...
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Toyl — 2’7",,(
If you double the orbital radius of a satellite in a
circular orbit, what must happen to its orbital velocity?

Vonl = J_G_-%,
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Satellites orbiting Earth

Geosynchronous
orbit: T =1 day
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Speed ¢
4o Escape Speed
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